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Example 1 N
A simple random sample of Y00 individuals provides (100 Yes fesponses. \/4 )

1. What is the point estimate of the proportion of the population that would /\} J
provide Yes responses?
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2. What is your estimate of the standard error of the proportion?
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3. Compute the 95% confidence interval for the population proportion.
A Yol ) 0.02
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Example 2 N
A simple random sample 0f{ 900 eJements generates a sample proporti E= 0.45.

1. Provide & 95% cpnfidence interval for the population proportion.
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2. Provide onfidence interval for the population proportion.
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Example

A company is planning to market a new offer. However, before marketing this
offer, the company wants to find what percentage of customers will like it. The
company’s research department select a random of 500 customers and asked them
to evaluate this offer. Of these 500 customers, 290 said they liked it. Find with a
99% confidence level, what percentage of customers will like this offer?

Solution

A BT
n_ 500
D)
n
= 0.58+ (2.575)(0.0221)
= 0.58+.057

=0.523t00.637
Thus, we can state with 99% confidence that 52.3% to 63.7% all customers will
like this offer.
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E* for p*

SAMPLE SIZE FOR AN INTERVAL ESTIMATE OF A POPULATION PROPORTION

_ Ga)’P*( = p%
R e —

E? (8.7)
(v *
’D
In practice, the planning value_[i can be chosen by one of the following procedures. | ) l—-( ' S ’w ‘a.
1. Use the sample proportion from a previous sample of the same or similar units. ' )
2. Use a pilot study to select a preliminary sample. The sample proportion from this 2 ) P { Iﬂf 5{»( J
sample can be used as the planning value, p*. -
3. Use judgment or a “best guess” for the value of p*. ) n J mg,\e
I 4. If none of the preceding alternatives apply, use a planning value of p* = .50. 3

Example u )
In a survey, the planning value for the population proportion i: @ How
ns \J hould be taken to provide a 90% confidence interval with a margin

45 o 2= [4us
N = 21(19’”(/’7")) = (/~6%€)1("55)[""%

Ev (Do?r Z.\
= [{77.35 =

Example /'137- 2

At i i% confidence, how [arge a sample should-betaken to obtain a margin of error

0 for the estimation of a population proportion? Assume that past data are not
available for developing a planning value for p*.
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